PUZZLE OF THE WEEK

SOLUTION

Who Caught the Biggest Fish?
Captain, Tyger, Sally and Flame all went fishing to see who could catch
the biggest fish. Each of them caught a trout. The fish were all different

weights.
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They weighed the fish in pairs. This is what they found:

Captain’s and Tyger’'s fish weighed 12lb altogether.

Tyger's and 5ally’s fish weighed 14Ib altogether.

Sally's and Flame's fish weighed 15lb altogether.

The lightest fish weighed 5lb, and all the weights are integers.

Find out how much each fish weighed and put them in order from
lightest to heaviest.

1) Tyger's fish = 5lb 2) Flame’s fish — 6lb
3) Captain’s fish = 7lb 4) Sally's fish — 9lb

Be sure to check the next newsletter to see the solution! If you have questions about or
suggestions for the puzzle of the week, let Ms. Rush know!

Special thanks to mathsalamanders.com for the puzzle



